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QID:101 -
In the following question, select the number which
can be placed at the sign of question mark {?) from
the given alternatives.

Trafg vy # for 7w Repeur # @ wy BE
(?) & TIET W HA TN TEA FH AT

2 |1 4
2|86 |7
8 14| 3
12011 ?

Options:

1)10

2)12

3)13

4)14

Correct Answer: 14
Candidate Answer: 14

QID:102 -
How many triangles are there in the given figure?

B o ST o Reed Pt ¥

Options:
1)10

2)16
3)18

4)20
Correct Answer: 18
Candidate Answer: 18




QID: 103 -

A word is represenled by only one set of numbers as given in any one of
lhe alternatives. The sels of numbers given in lhe alternatives are
represented by lwo classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbsred from 0 to 4 and
that of Matrix-l are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘E’ can
be represented by 30, 58, eic., and ‘G’ can be represented by 31, 68, elc.
Similarly, you have to identity the set for the word “MADE”.

TH 2 AT TF HEI-GAE R efer & o R Revedt # @
TRl Teh # fEm arm § Taweur 3 BU W HTOT-IEE HEWT & ¢ ani
g ST 90 &, S fF T T 8 HEEl A ¥ MRl TR AR
uftn B dmr 0 & 4 ¥ 3 aregel & 5 @ 9 s P @ T 3EW
F Ugel TR Ufth W g # TaFd HEAT g1 AT o AhaT F
3ERAUT & U & @1 30, 58, HITG §HT GAAT =1 Whl & T ‘G’ H 31,
68, 3fE a1 gofT o wEar ¥ W @t @ v uw A RBe g
“MADE" & foiT Telp o Ugamweer 3

Matrix-I Matrix-Il
HiEg- -l
0|1]2(3|4 516|789
0| Z|BID|F|H S5|H|J|[C|E|W
1T1J|ILIN|P[R G|F|ILIAIG|U
21 TIVIX[A[M TIDIN[X[I[S
IIE|G|T KM 8|IB|E|V|IK[Q
4|1DjQ|S|U|W 9IA|RIT|IM[P

Options:
1) 98,22,02, 86

2) 24, 65, 02, 58
3) 34, 23,76, 59

4) 34,67, 40, 58
Correct Answer: 34, 67, 40, 58
Candidate Answer: 34, 67, 40, 58

QID: 104 -

From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 7€ SR anefadl # @ T@ R Y @ gEw
orm & vy sl AT ¥

A




Options:

1)

N

C

Ol

Correct Answer:

C

Candidate Answer:

&

QID: 105 -
Which answer figure will complete the pattern in the
question figure?

Hid O AT AHIT TH AHG & T & g
T2

U




Options:

1)

\
o
2)
\
Q
3)
S
(o]
4)
o]
Correct Answer:
\
Q
Candidate Answer:
\
Q
QID : 106 -

[f & mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

Ife T gUuT @i AB Y@ W T@ &AW, a & T
AT GOl d @ Bl W AET W e
g ufafess @efi?




Options:

)
O

@)
O @

o @

Correct Answer:

O
O

o @

Candidate Answer:

O
O

o @

QID:107 -
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

@Y F U IEaa # TEm 3EEr Fee @
AIZRL Deed JUT Wiekd & I I T oK ARG
ST s e

sl




Options:

1)

0 L) L)

Correct Answer:

L

Candidate Answer:

QID : 108 - What will come in place of question mark (?) in the given equation?
12210?8=14

g g Ttz 7 e g (?) & I R T ST
12?210?78=14

Options:

1) -and+

- qur+

2) +and +

+ T+

3) xand +

X qAT +

4) +and -

+ AT -

Correct Answer: + and —

+ U1 -

Candidate Answer: + and -
+quT -

QID:109-1f3-3=6and5-5=20,then9-9=7?

af3-3=6dW5-5=208,@9-9="?

Options:
1) 56

Correct Answer: 72
Candidate Answer: 72




QID : 110 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Grain
2. Great
3. Glow
4. Glare
5. Geek

Frfafea ereel &l eregenlar & 81 aTet A & SrgaR o

1. Grain
2. Great
3. Glow
4. Glare
5. Geek

Options:
1) 54132
2) 54312
3) 53412
4) 53421

Correct Answer: 54312
Candidate Answer: 54312

QID : 111 - In the following question,select the missing number from the given alternatives.
82,101,122,7,170,197
Frafafad e # Ry 71q feneal 7 € g sfe Fa HIfSgI

82,101,122,?,170,197
Options:

Correct Answer: 145
Candidate Answer: 145

QID : 112 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
PTXB,FE?

e SsRH o e 8, s @ Uk ug g 21 Ry e et & § ag wél fAeey gy, St srshd @l g k|
PTXB,F?

Options:

1J

2)K
3)1

4HH
Correct Answer: J
Candidate Answer: J

QID : 113 - In the following question, select the odd word pair from the given alternatives.

Frfifea s 7 Ry g fRreped! 7 & faw srez 3w @t gfg
Options:

1) Book : Paper

&< : SITST

2) House : Bricks

Wi

3) Court: Lawyer

AT © Fehte

4) Body : Organs

SRR : 3T

Correct Answer: Court : Lawyer
YA

Candidate Answer: Court ; Lawyer
I ;

QID : 114 - In the following question, select the odd number from the given alternatives.

Frafafed ey § e g el & @ faws e & gl




Options:
1)13

2)29
3) 59

4) 36
Correct Answer: 36
Candidate Answer: 36

QID : 115 - In the following question, select the odd letters from the given alternatives.

Frafafed uy § Ry 1y el d @ faws siari ot gfHAgl
Options:

1) XAC

2) GJM

3) PSV

4) FIL
Correct Answer: XAC
Candidate Answer: XAC

QID : 116 - Identify the diagram that best represents the relationship among the given classes.
Cow, Dog, Animals

g8 o g Sit 12 fag g ot & ffar & defer ot @t fsuor shear &1

T, T, SR

Options:
1)

@

3)

4)

QD

Correct Answer:

Candidate Answer:




QID : 117 - In the following question, select the related word pair from the given alternatives.
Laugh:Cry::Fat:?

Frfafea us & g g e 7 & G srss gm @t gfgl
T AT AT ?
Options:

1) Tall
I

2) Thin
et

3) Short
B

4) Slow
o

Correct Answer: Thin
Tdell

Candidate Answer: Thin
qder

QID : 118 - In the following question, select the related number from the given alternatives.
6:42::8:?

Frafafea e 7 Ry g Reeed! | & defda = ot g

6:42::8:?

Options:

1) 58

2) 84

3)72

4) 96
Correct Answer: 72
Candidate Answer: 72

QID : 119 - In the following question, select the related letters from the given alternatives.
LMN:MOQ::ABC:?

Frafafea wy § Ry g Rl d @ ddfda sieri @@t gfgl

LMN:MOQ::ABC:?

Options:

1) CEF

2) CDE

3) BEE

4) BDF
Correct Answer: BDF
Candidate Answer: BDF

QID : 120 - In the following question, select the word which cannot be formed using the letters of the given word.
SALVAGING

Frafafed Reedt 3 @ g 21 gy St fRg 71q 21eg & $18RT &1 I ch T ST ST FehdT|
SALVAGING

Options:
1) SLAIN

2) SLANG
3) GAINS

4) BRINGS
Correct Answer: BRINGS
Candidate Answer: BRINGS

QID : 121 - Ankit is facing North standing at point A. He walks 10 km straight and takes a right turn. He again walks 10 km and takes a right turn. He again walks 10
km to reach at point B. What is the distance (in km) between point A and B?

Sifehd forg A TR ITR & $1R 7@ Ik @1 &1 98 10 for. . Hrerm I & 9201 31 gear 81 98 g: 10 for. . Icrar & a1 31 J8ar 81 98 I: 10 .+t Ioem fg B R ugaar 81 g A
quT B & g R g (Reft. #) wn g2




Options:
1)10

2)20
3)10v2

4)15
Correct Answer: 10
Candidate Answer: 10

QID : 122 - Weight of A is half of B. Weight of B is 3 times of C. Weight of C is one fourth of D. Weight of D is 5 times of E. Who is the heaviest?

AT ¥R B ST STTHT §1 B &I 9R C &I fiF 7T &1 C &1 WR D 3T Geh d1TE &1 D 3T ¥R E &1 U9 AT 8| 999 - &iF 87
Options:

1B

2)D

3)A

4) Cannot be determined

[T LT fehaT ST TehdT

Correct Answer: D

Candidate Answer: D

QID : 123 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to be
at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
1. All tables are pencils.
Il. Some pencils are chairs.

Conclusions:
|. Some chairs are tables.
Il. Some tables are pencils.

i U Y 091 # 5 YA SR I 16 37 YT R SR 5o Feeny ey 78 §, gTetifch I8 9T A1d a2 § f¥=ar gt Ged! g1 9+ fsend ug ofk fiRe Fafia &< fos Rg o @
@ fAser, 4y g ST & SR R gihea &1

hYA:
| et A a8
1. o U FiEat €1

oo

1. o FRIAT AT 81

1. Fo A Ui &1

Options:

1) Only conclusion (1) follows.

Ghae e (1) 98t 21

2) Only conclusion (ll) follows.

et frsad (1) Wt &1

3) Both conclusion follow.

ST & Foreed @it &

4) Neither conclusion (I) nor conclusion (I1) follows.
7t e (1) = & Feemet (11) e &1

Correct Answer: Only conclusion (lI) follows.

e At (1) T8t 81

Candidate Answer: Only conclusion (1) follows.

Sheret Freendf (1) Tt 21

QID : 124 - In a certain code language, "EXAM" is written as "FYBN". How is "RESULT" written in that code language?

Tk fAfE @te e §, "EXAM" &t "FYBN" forar ST & | 9 ahie oo & "RESULT" &t foh UehR ferar simaem?

Options:
1) SFTVMU

2) SFTVNU
3) SFUVMU

4) SETVMU
Correct Answer: SFTVMU
Candidate Answer: SFTVMU




QID : 125 - In a certain code language, "ROAD" is written as "TREI". How is "SIGN" written in that code language?

Qeh fAfIE @te e A, "ROAD" &l "TREI" foRaT ST € | 39 his |rem & "SIGN" &l fohd wen ferar srgam?

Options:
1) ULKS

2) ULKT
3) UMKT

4) UNKS
Correct Answer: ULKS
Candidate Answer: ULKS

QID : 126 - Which value among 2409, 3300 and 6200 is the largest?

2400 3300 and 6200 F § i &1 719 <7 82
Options:

1) 6200

2) 3300

3) 2400

4) All are equal

goft sReR §

Correct Answer: 6200
Candidate Answer: 6200

QID : 127 - If N = (V7 + v5)/(V7 — Vv5) then what is the simplified value of 1/N?

RN = (V7 +V5)/(¥7 = ¥5) &, a 1/N o1 Tefied 7F am 87
Options:

1)6+v35

2)6 - V35

3)12-v35

4)12 - 2v35
Correct Answer: 6 — V35
Candidate Answer: 6 — v35

QID : 128 - What is the unit digit of 1261 x 3474 x 1269?

1261 x 3474 X 1269 o 3hI3 3ich T &?

Options:

1)2

2)4

3)6

4)8

Correct Answer: 6
Candidate Answer: 6

QID : 129 - What is the highest common factor of 48, 120 and 240?

48, 120 qT 240 I Hg<H GHTYdch T 8§72

Options:
1)24

2)12
3)36

4) 40
Correct Answer: 24
Candidate Answer: 24

QID : 130 - What is the value of 22 - 12 + 42 - 32+ 62 — 527

2212442 - 324 62 - 52 T A AT §?




Options:
1)3

2)16
3)17

4) 21
Correct Answer: 21
Candidate Answer: 21

QID : 131 - Which one is the largest fraction among 3/5, 6/7 and 5/11?

3/5,6/7 a1 5/11 B Q @A 1 AT ST 8?

Options:

1) 6/7

2)3/5

3) 5/11

4) All are equal
Tt RER &

Correct Answer: 6/7
Candidate Answer: 6/7

QID : 132 - While working 5 hours a day, X alone can cut 15 trees in 9 days. In how many days X can cut 40 trees working 8 hours a day?

X, 5 €& ufafee oref eneh 15 el et 9 Rt & anre wemar 21 8 6 ufafee s adh, X 40 Ui ot foham! AT & ahle Tenar 82
Options:

Correct Answer: 15
Candidate Answer: 15

QID: 133 - X and Y can complete a work in 10 days, Y and Z in 12 days and X and Z in 15 days. What will be the ratio of efficiency of X, Y and Z respectively?

X arY foneft ooref @t 10 fAT o o7 e Wt &, Y e Z 12 R F e X qen Z 15 Rt 7 gy el €1 8hAsT: X, Y 97 Z Y ShRigpRIetd ol SigaTd )T ghm?

Options:

1)10:12:15

2)6:5:4

3)5:7:3

4)5:6:4

Correct Answer: 5:7:3
Candidate Answer: 5:7:3

QID : 134 - If the side of a cube is 8 cm, then what is the volume (in cm3) of the cube?

afe gep u= &Y oot 8 .. B, it u et S (@3 ) e g2
Options:

1) 64

2)128

3)192

4) 512
Correct Answer: 512
Candidate Answer: 512

QID : 135 - Marked price of an article is Rs 7500. It is purchased at a discount of 12%. If Rs 250 are spent on its repairs, then to gain 20% profit what should be the
selling price (in Rs)?

e g o1 Sifdhd qed 7500 % 31 3Tt 12% i e UR W1 ST &1 afe 250 T Seh! AVHA IR 4 g3 &Y, At 20% ol 1 ShAM & g fasha e (= ) =am g =nfeq?

Options:
1) 7940
2) 7760
3) 8220
4) 8480

Correct Answer: 8220
Candidate Answer: 8220

QID : 136 - After giving a discount of 33.33%, there is a loss of 11.111%. If only 10% discount is given, then what will be the profit percentage?

AR AR D o A D e A4 A4 A0, D e ——— e 2 S = N




Options:
1)24

2) 20
3)27
4)25

Correct Answer: 20
Candidate Answer: 20

QID:137-1fU:V=2:9,V:W=3:5and W: X =15: 11, then what is the value of U : X?

gRrU:V=2:9,V:W=3:5aTW:X=15:11&a U : X &l 9 3 &7
Options:

1)3:22

2)4:17

3)2:11

4)5:11

Correct Answer: 3: 22

Candidate Answer: 2: 11

QID : 138 - In what ratio two types of liquid costing Rs 52/litre and Rs 65/litre should be mixed to obtain a mixture of Rs 60/litre?

52 ¥/fex auT 65 T/ arel! gea forg srgurd & farer <€ s Y 60 %/f.am arer fAysior ure g Simg?
Options:

Correct Answer: 5: 8
Candidate Answer: 5:8

QID : 139 - Average of 12 numbers is 14. If each number is doubled, then what will be the new average?

12 TReTsit o e 14 81 3 Uieh T oY ST o foram i, <t =7 sfra o gim?
Options:

1) 28

2)18

3)20

4) 24
Correct Answer: 28
Candidate Answer: 28

QID : 140 - If the selling price of 10 articles is equal to the cost price of 15 articles, then what is the profit percent?

T 10 a¥gail o1 fasha g 15 TEgait o o T & SRTeR &, df arey ufaiera arm &2
Options:

1) 33.33

2) 66.66

3) 50

4) 60
Correct Answer: 50
Candidate Answer: 50

QID : 141 - A shopkeeper buys a fan for Rs 14500. For how much should he sell (in Rs) it so as to gain a profit of 10%?

Teh GMGER Ueh UaT 14500 % & @iedr §110% A1 Ut et & folq 39 U fohae (3 H) & s amfey?
Options:

1) 15950

2) 13050

3) 16050

4) 15450

Correct Answer: 15950

Candidate Answer: 15950




QID : 142 - The difference between 81% and 49% of a number is 768. What is the 48% of the number?

Teh TAT & 81% TUT 49% ohT 3icR 768 & | T=AT T 48% T &7
Options:
1) 1186
2) 1248
3)1152

4)1168
Correct Answer: 1152
Candidate Answer: 1152

QID : 143 - If the side of a cube increases by 15%, then what will be the percentage increase in the volume of the cube?

i el &= &t oei 7 15% 1 gfs i Il 8, ot v & s | foham wfaera Y g ghft?
Options:

1) 32.25

2) 30

3)45

4) 52.08
Correct Answer: 52.08
Candidate Answer: 52.08

QID : 144 - A train crosses a platform in 30 seconds travelling with a speed of 72 km/hr. If the length of the train be 120 metres, then what will be the length (in
metres) of the platform?

ek 3T 72 136+t /dier <l iy & Terd §Y Uas wewhiH @t 30 Servs A UR &R ot &1 afe Jermiel it awand 120 Hiex 8, ot whew s &t arwrg (Hiex #) i gifi?

Options:
1) 320
2) 450
3) 480
4) 360

Correct Answer: 480
Candidate Answer: 480

QID : 145 - Speed of a boat is 3 km/hr in still water and the speed of the stream is 1 km/hr. If the boat takes 9 hours to go to a place and come back, then what is the
distance (in km) of the place?

<Tid 7o B A1 <t i 3 foh.xft./der & ar Ry <y afa 1 fR.H/der 81 aft g 9 v foneft o e St araw o et 8, & (R B) e 82
Options:

112

2)16

3)18

4)9
Correct Answer: 12
Candidate Answer: 12

QID : 146 - An amount invested at simple interest gives Rs 720 interest at 12% per annum in 3years. What is the principal (in Rs)?

Qeh 1 et 12% wfdae it &z @ 3 aef & g grearor srer wr fAder A & 720 % <91t UTe glaT 81 g (3 8) Far 8?
Options:

1) 2400

2) 1500

3) 3000

4) 2000

Correct Answer: 2000

Candidate Answer: 2000




QID: 147 -
The bar chart given below shows the marks obtained

by P and Q in 5 tests. The maximum marks for each
testin 200.

= fer o7 gus R A S5 udlens] A P T Q BN
UTH 3Rl @l SRIAT 71T &1 Ucder udlem & form
HfOeras 37 200

op oQ
Lo
200 - o _E
T'p] -
2 T 9
% 180 1 Tw ] o [+ o
e — - ~ D
cl — —8
o E 100 A
0
&
= 50 4
0 T T T T 1
1 2 3 4 5
Test / 9dtem
What is the percentage marks obtained by P in test 3?
P 7 uder 3 # fopant wfara sies urea fong 82
Options:
1)70
2)75
3)85
4) 90

Correct Answer: 70
Candidate Answer: 70




QID: 148 -
The bar chart given below shows the marks obtained

by P and Q in 5 tests. The maximum marks for each
testin 200.

= fer o7 gus R A S5 udlens] A P T Q BN
UTH 3Rl @l SRIAT 71T &1 Ucder udlem & form
HfOeras 37 200

oOp oQ
200 - Q <
= Lo - o %:
] i o < —
% 180 1 Tw & :E — 5
g : - =8
© B 100 -
=
S 50
0 T T T T 1
1 2 3 4 5
Test / Tdiamm

The marks obtained by P in test 3 is how much percent more than the marks obtained in test 2?

P gRT et 3 B uTed ek uiet 2 H e Siehl & fohan ufarra aifdes 82
Options:

1) 16.66%

2) 10%

3)12.5%

4)15%

Correct Answer: 16.66%

Candidate Answer: 16.66%




QID: 149 -
The bar chart given below shows the marks obtained

by P and Q in 5 tests. The maximum marks for each
testin 200.

= fer o7 gus R A S5 udlens] A P T Q BN
UTH 3Rl @l SRIAT 71T &1 Ucder udlem & form
HfOeras 37 200

oOp oQ
200 - Q <
= Lo - o %:
] i o < —
% 180 1 Tw & :E — 5
g - - ~3
© B 100 -
=
S 50
0 T T T T 1
1 2 3 4 5
Test / Tdiamm

What is the average marks obtained by Q in the given 5 tests?

& 118 5 gdenai & Q gRT vTedien! T g @ &2
Options:

1)125

2) 122

3) 133

4)136

Correct Answer: 133

Candidate Answer: 133




QID: 150 -
The bar chart given below shows the marks obtained
by P and Q in 5 tests. The maximum marks for each
testin 200.

= fer o7 gus R A S5 udlens] A P T Q BN
UTH 3Rl @l SRIAT 71T &1 Ucder udlem & form

HieraH 37 200 g
Oop oQ
200 - Q <
= Lo - o %:
1y i ol | <+ —
E 150—_2 & :E — 5
-5 = || =8
© B 100 A
=
S 50
0 T T T T 1
1 2 3 4 5
Test / Tdiamm

The total marks obtained by P are how much less than the total marks obtained by Q in the five tests?

& g 5 wdemail § P gRT UTe gt 3feh Q ZRT U el 3ich & bt o 87

Options:
15

2)10
3)15

4) 25
Correct Answer: 5
Candidate Answer: 5

QID : 151 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

Sameer is the most succeeded for all (1)/ the businessman (2)/ in this city today. (3)/ No Error (4)

Options:
N1

2)2
3)3

4)4
Correct Answer: 1
Candidate Answer: 1

QID : 152 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

Both Rajesh as well as his wife (1)/ are determined to bring (2)/ about some changes in the plan. (3)/ No Error (4)




Options:
1)1

2)2
3)3

44
Correct Answer: 1
Candidate Answer: 2

QID : 153 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Itis | who to blame for this sad situation.

Options:
1) are

2) have
3)is

4) am
Correct Answer: am
Candidate Answer: is

QID : 154 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

One must do duty.

Options:
1) his

2) her

3) him

4) one's

Correct Answer: one's
Candidate Answer: one's

QID : 155 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Clasp

Options:
1) Loose

2) Let go
3) Catch

4) Release
Correct Answer: Catch
Candidate Answer: Loose

QID : 156 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Clumsy

Options:
1) Unskillful

2) Expert
3) Graceful

4) Coordinated
Correct Answer: Unskillful
Candidate Answer: Unskillful

QID : 157 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Confilict




Options:
1) Clash

2) Peace

3) Stability

4) Agreement

Correct Answer: Clash
Candidate Answer: Clash

QID : 158 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Attachments

Options:
1) Junction

2) Link

3) Bond

4) Opposition

Correct Answer: Opposition
Candidate Answer: Opposition

QID : 159 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Deliberately

Options:
1) Consciously

2) Unintentionally
3) Wittingly

4) Knowingly
Correct Answer: Unintentionally
Candidate Answer: Unintentionally

QID : 160 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Awakened

Options:
1) Hypnotized

2) Activated
3) Reviewed

4) Around
Correct Answer: Hypnotized
Candidate Answer: Hypnotized

QID : 161 - In the following question, out of the four givenalternatives,select the alternative which best expresses the meaning of the Idiom/Phrase.

To flog a deadhorse

Options:

1) To be undecided

2) Waste energy on an unalterable situation

3) Reveal a secret information

4) Exaggerate a minor problem

Correct Answer: Waste energy on an unalterable situation

Candidate Answer: Waste energy on an unalterable situation

QID : 162 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

A carrot and stick approach

Options:

1) Happy and unhappy
2) Rewards and punishments that influence someone's behavior
3) Help and guidance
A) Do-1indn




Candidate Answer: Rewards and punishments that influence someone's behavior

QID : 163 - Improve the bracketed part of the sentence.

| have returned the book (what) you gave me.

Options:
1) where

2) which
3) how

4) No improvement
Correct Answer: which
Candidate Answer: which

QID : 164 - Improve the bracketed part of the sentence.

This invitation is for (you) and me.

Options:
1) yours

2) yourself
3) your

4) No improvement
Correct Answer: No improvement
Candidate Answer: yours

QID : 165 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

One not concerned with right or wrong

Options:
1) Egoist

2) Rational
3) Amoral

4) Atheist
Correct Answer: Amoral
Candidate Answer: Amoral

QID : 166 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Act of deceiving somebody in order to make money

Options:
1) Misrepresentation

2) Fraud
3) Blunder

4) Mistake
Correct Answer: Fraud
Candidate Answer: Fraud

QID : 167 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:

1) Imaginary

2) Imagenary

3) Imaginery

4) Imagineri

Correct Answer: Imaginary
Candidate Answer: Imaginary

QID : 168 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.




Options:

1) Ahceive

2) Achieve

3) Acheive

4) Ahcieve

Correct Answer: Achieve

Candidate Answer: Achieve

QID : 169 - Rearrange the parts of the sentence in correct order.

The first four

P: for the development
Q: of the brain

R: years are Crucial

Options:

1) QPR

2) RPQ

3) PRQ

4) PQR

Correct Answer: RPQ
Candidate Answer: RPQ

QID : 170 - Rearrange the parts of the sentence in correct order.

Street theatre

P: a well established
Q: in India is

R: ancient art form

Options:

1) QPR

2) RPQ

3) RQP

4) PRQ

Correct Answer: QPR
Candidate Answer: QPR

QID : 171 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The doctor is a very important and person. He works in hospital and dispensary. When a person is sick, he him. He finds out the cause of illness. He
gives medicines to the illness. He saves lives of people. He is cheerful and ready to help people. He works so hard and he does not take proper rest and
sleep. He does work. We should be thankful to him and give respect to him.

important and person.

Options:

1) reusable

2) useful

3) careful

4) usuable

Correct Answer: useful

Candidate Answer: careful

QID : 172 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The doctor is a very important and person. He works in hospital and dispensary. When a person is sick, he him. He finds out the cause of illness. He
gives medicines to the illness. He saves lives of people. He is cheerful and ready to help people. He works so hard and he does not take proper rest and
sleep. He does work. We should be thankful to him and give respect to him.

When a person is sick, he him.

Options:

1) examines

2) fines

3) handles

4) questions

Correct Answer: examines

Candidate Answer: fines




QID : 173 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The doctor is a very important and person. He works in hospital and dispensary. When a person is sick, he him. He finds out the cause of illness. He
gives medicines to the illness. He saves lives of people. He is cheerful and ready to help people. He works so hard and he does not take proper rest and
sleep. He does work. We should be thankful to him and give respect to him.

He gives medicines to

Options:
1) lure

2) defuse
3) cure

4) dismantle
Correct Answer: cure
Candidate Answer: cure

QID : 174 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The doctor is a very important and person. He works in hospital and dispensary. When a person is sick, he him. He finds out the cause of illness. He
gives medicines to the illness. He saves lives of people. He is cheerful and ready to help people. He works so hard and he does not take proper rest and
sleep. He does work. We should be thankful to him and give respect to him.

Heis cheerful and ready to help people.

Options:
1) always

2) never
3) seldom

4) occasionally
Correct Answer: always
Candidate Answer: always

QID : 175 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The doctor is a very important and person. He works in hospital and dispensary. When a person is sick, he him. He finds out the cause of illness. He
gives medicines to the illness. He saves lives of people. He is cheerful and ready to help people. He works so hard and he does not take proper rest and
sleep. He does work. We should be thankful to him and give respect to him.

He does work.

Options:
1) idle

2) some
3) proper

4) noble
Correct Answer: noble
Candidate Answer: noble

QID : 176 - What is the meaning of National income?

AT 31T ot o oref 87

Options:
1) Wages only
e g

2) Rent only
herdt femmar

3) Sum of all factor costs
oY @} ArTd <1 S

4) None of these

Correct Answer: Sum of all factor costs
Tt Wt AT o St

Candidate Answer: Sum of all factor costs
Tt Wt AT T St




QID : 177 - In economic terms, national development is

s i g adafea_ @

Options:
1) Equal opportunity to all

fore T SR
2) Employment to all citizens
oY AR & forg ISR
3) Development of all sections
goft ot a1 ey
4) Even sharing of resources
HETY AT T ¥ § TS

Correct Answer: Development of all sections

it ol o1 e

Candidate Answer: Development of all sections
[oft gt & T

QID : 178 - Which fundamental right allows citizens to move to the court if they believe that any of their fundamental rights have been violated by the state?

MR i Hifeieh AR BT YERT AR SfeTeld ST ohd & STd I AT & foh 5T ZRT 3 fohelt Hiferes S1fAehR o1 Iewie fohar ST 38T 82

Options:
1) Right to Equality
AT 6T fdBR

2) Rights to freedom

TIIIIT AT

3) Right against Exploitation

MuT & g SifdaR

4) Right to Constitution remedies
i SUIR HI

Correct Answer: Right to Constitution remedies
i ITAR &l

Candidate Answer: Right to Constitution remedies
] ITAR &l

QID : 179 - Which section of Indian Constitution has often been referred to as its ‘conscience’?

IRT dfae™ & fohT T ol o diR 1R Igh! ‘SiaRTeAT ot ohgl ST 82

Options:
1) Fundamental Duties

2) Fundamental Rights
Hifdren ifdedr

3) Directive Principles of State Policy
ey & Hif fAderes g

4) None of these

qas
Correct Answer: Fundamental Rights
Tiferen SifdAR

Candidate Answer: Directive Principles of State Policy
I & Hifd e aa

QID : 180 - Who was the first ruler of Gupta dynasty to adopt the grand title of Maharaj-adhiraja?

et & foh AITes - Tad Uge ARSNTRTS Sift st Iufdy emzor <t oft?

Options:

1) Ashoka

ERICH

2) Chandragupta

R

3) Samudragupta

NN

4) Chandragupta-Il

Tl

Correct Answer: Chandragupta
TR

Candidate Answer: Chandragupta

Rl




QID : 181 - Who were defeated in the 3rd Battle of Panipat 17617

1761 Y uritud 6 dedt et A S uRiford gy 4?

Options:

1) Mughals
iU

2) Marathas
ST

3) Nizam of Hyderabad
BT & fAsmT

4) French

g

Correct Answer: Marathas
TRIST

Candidate Answer: French

QID : 182 - Summer solstice in Northern Hemisphere occurs on which date of the year?

It e A et {6 fon fafdy &t IR smaAia gl 82

Options:
1) 21 March
21 A f

2) 23 September
23 fRa=r

3) 21 June

2135
4) 22 December
22 REwR

Correct Answer: 21 June
VARG G

Candidate Answer: 21 June
VARG G

QID : 183 - Eurasia is the combined landmass of Asia and

R GRAT AT ____ T HYTh YA B

Options:
1) Europe

2) Russia
>

3) Africa
STTRIRT

4) Greenland
PIECTS

Correct Answer: Europe

Candidate Answer: Europe

QID : 184 - When the right ventricle of heart contracts, the blood goes to .

e gl o el e GgRa gt g A Siar gl

Options:
1) All parts of the body
SRR & goft ot &

2) Pulmonary arteries
At A

3) aorta

AgIyE-

4) lungs

st |

Correct Answer: lungs
et

Candidate Answer: All parts of the body
SRR & ot o |




QID : 185 - A digestive enzyme, salivary amylase, in the saliva begin digestion of which of the following?

TR QHIS ST AR Ueh UTIch USTigH 31 A & foherenT UTIA SR & &7

Options:
1) Vitamins

2) Minerals
@fet ueref

3) Fats

qdr

4) Carbohydrates

Correct Answer: Carbohydrates

Candidate Answer: Carbohydrates

QID : 186 - In 28-day human ovarian cycle, ovulation occurs on .

28 &1 & wreit 7rfdes ash A sveient __ gar gl
Options:

1) Day 1

ugd &

2) Day 10

&Hd ot

3) Day 14
Tegd A
4) Day 28
aTgrEed

Correct Answer: Day 14

=egd fet

Candidate Answer: Day 14

=egd fet

QID : 187 - The ratio of the size of the image to the size of the object is known as .

ufdfeTar & SRR ol g & AR & T U gl gl

Options:

1) the focal plane

TR I

2) the transformation ratio
TUT=IRUT STUTd

3) the efficiency

TIfar

4) magnification

A

Correct Answer: magnification
Bicer]

Candidate Answer: magnification
Sae

QID : 188 - An object is said to be in what kind of motion if it is moving along a straight line with a constant speed?

e ag o UepR <t ify & ehgt ST aife; ag et wvet 3@ o argfeer o 9rer & et wa1 gtar 82

Options:

1) Non-uniform motion

SIEAHA

2) Uniform motion

QhEHT STA T

3) Both uniform and non-uniform motion
UhGHT aT SFAT Ifd &4t

4) Neither uniform nor non-uniform notion
q at gue ifa 7 &) Yo S| T
Correct Answer: Uniform motion
Qg STEH T

Candidate Answer: Uniform motion
TRGH ST i




QID : 189 - Which of the following is/are primary device/devices of storage?

I. Cache
Il. RAM
Ill. Hard drive

FafefEa 7 9 o9 Q/3F 919U A 1 MAfHe aree 82

L et

I

I g€ g18a

Options:

1) Only Il

e Il

2)Only land Il
It il

3) Only Il

a |l

4) Only Il and Il

&aer |l g il

Correct Answer: Only | and Il

haet | gl

Candidate Answer: Only | and Il

had | Tl

QID : 190 - Noble gases exist as individual

IpE T4 aAf® MR ™ & &0 H Hivlg &l &l

Options:
1) atoms

Bk

2) molecules

S
3) elements
ad

4) compounds

Correct Answer: atoms
Candidate Answer: molecules

Sk

QID : 191 - An ionic bond is formed when .

ek S gy 39 gHg fAffa ghar & o

Options:
1) The combining atoms gain electrons
ST ORATY] SR U e
2) The combining atoms lose electrons
TS URATY] SR U1 el e &
3) A metallic element reacts with a nonmetallic element
Teh ¥ifcaieh dedl Teh 1eNTfcieh ded & 91 foha apeaT &
4) Sharing of electrons takes place
[ bl WIS feharT <TaT &
Correct Answer: A metallic element reacts with a nonmetallic element

ok HTfcieh aed Geh SHefdch aed o 1Y foham e &

Candidate Answer: A metallic element reacts with a nonmetallic element
T fcieh dcd Yeh Srutfaes dad & a1 fohar axar @

QID : 192 - Acid rain that corrodes the marble of the Taj Mahal is made up of which acids?

37T G St ATSTHg o TIHRER T HETROT el §, fohT oreett § a1t giait 87

Options:

1) Nitric acid and sulphuric acid
AT5feeh ST qT TewgReR ST

2) Carbonic acid and oxalic acid
RIS (eh ST AT SiTersifeich 31T
3) Formic acid and carbonic acid
hIfHeh ST T TSR ST

AN el AL e



Correct Answer: Nitric acid and sulphuric acid
TEfen aret AT GewRIRe S

Candidate Answer: Nitric acid and sulphuric acid
3R ST TUT eI Reh STel

QID : 193 - Pradhan Mantri Suraksha Bima Yojana is available to all citizens between the ages of 18 to years.

neE gRen i dier 18 § o den it oy & goft AmiRent & forg Iucey &1

Options:

1) 50

2) 60

3)70

4) 80

Correct Answer: 70
Candidate Answer: 50

QID : 194 - Who invented Airplane?

TS SIGTST ol 3NTfashR fhaa famar?

Options:
1) Mendeleef
Al

2) Oswald Mosley
[

3) J.J. Thomson

S . e

4) Wright Brothers

RECEL)

Correct Answer: Wright Brothers
RECE

Candidate Answer: Wright Brothers
NECELH

QID : 195 - Sunil Chhetri is related to which sport?

wher & v B & R 22

Options:
1) Football

2) Javelin throw
ST T

3) Shotput

Tier theh

4) Athletics
Qeraifeey
Correct Answer: Football

pesiie

Candidate Answer: Javelin throw
ATAT Theh

QID : 196 - Which of the following pair is INCORRECT with respect to Kumbh Mela?

Prfafea & @ 3 91 g $9 At & g Ted 27

Options:

1) Allahabad — Saraswati
IATEENG - TRET

2) Nashik — Godavari

AR - Mgt

3) Haridwar — Gomti

gRER - Mt

4) Ujjain — Shipra

I - R

Correct Answer: Haridwar — Gomti

Candidate Answer: Haridwar — Gomti
Tt




QID : 197 - Who won the 2016 Arjuna Award for Boxing?

T 1R & o 2016 i qRERR Sitar 22

Options:

1) Manoj Kumar
TS FHR

2) Mary Kom
R

3) Dinesh Kumar
R AR

4) Shiva Thapa
fRrar aqmar

Correct Answer: Shiva Thapa
fRvar emar

Candidate Answer: Shiva Thapa
e amar

QID : 198 - Who is the author of the book named ‘Flood of Fire?

TS 3T ThITR' ATHE YIch & adh/ARH B &2

Options:

1) Naina Lal Kidwai
A1 Tt fhead

2) Sagar Baheti

IR gt

3) Sudarshan Pattnaik
e ueArTes

4) Amitav Ghosh
AT gy

Correct Answer: Amitav Ghosh

Candidate Answer: Amitav Ghosh

QID : 199 - Other than India and Afghanistan which is the the third participant country in Chabahar Trilateral agreement on transport and transit corridors?

RS TAT ST & Sferar gRag JuUT YR TR R FegR HAuei gosia # dierr urfigr e g2

Options:
1) Pakistan
urfhearE

2) Kazakhstan
EaSICELSIE

3) Iran
/A

4) Bangladesh

AT
Correct Answer: Iran

Candidate Answer: [ NOT ANSWERED ]

QID : 200 - India operates an embassy at Which city of Afghanistan?

ST o fohg 28R & YR garars aiferd shedl 8?2

Options:

1) Kabul
It

2) Kandahar
HYR

3) Jalalabad
NEIGICIE

4) Ghazni
USE

Correct Answer: Kabul

PIgA
Candidate Answer: [ NOT ANSWERED ]




